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SECTION-I : CHILD DEVELOPMENT AND_PEDAGOGY,
TEACHING LEARNING PROCESSES

L.

5]

,(C) Kobhler

Insight learning theory was given by:
(A) Roger (B) Hull
(D) Skinner

Giftedness is due to ?
(A) Genetic make up
(B) Environmental Motivation

.(C) Combination of (A) and (B)

(D) Psychological Factor ~

A disorder related to language comprehension
1St :

(A) Apraxia

(B) Dyslexia : B

(C) Lcaming Disability

(D) Aphaisa

Which of the following does not determine
problem solving :

(A) Insight

(B) Mental sets

(,(C) Enteranchment

(D) Fixation

Famous book “Personality : A Psychological
Interpretation (1937)” is written by :

(A) Alport .(B) Freud .

(C) Datta (D) Zubin

Who said that ‘fAdjuétment is a process not a
state.” ?

(A) Gates
(C) Strang

,(B) Edwin Boring
(D) None of these

Who said “A child, who deviates from the social
norms of behaviouris called delinquent”?
(A) Healy

- {B) Cyril Burt

(C) Cole

+ (D) None of the above
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8.  One of the cause of deliquency Is :
(A) Hereditary Causes

(C) Home Environment
(D) All of the aboye

| 9.  What s the L.Q. of a child whose chronological

age is 20 and mental age is 18 7
[(A) 90 . (B) 110
(©) 120 (D) None of the above’

10. Ifachild has 1.Q. of 140, he/she W111 be called :
- (A) Gifted " (B) Extraordinary
SC) Very Superior (D) None of them

11. Where did children study in vedic time?
(A) Athome (B)' In Maktab
.(C) In Gurukul (D) Under trecs

12.  What is the ndrmz;l range of 1Q?
(A) More than 130  «B) 90 - 110
(C) 71 -80 (D) Less than 70

13. Education for child with special needs should be
provided : :

,(A) With normal children

(B) Through special teaching method

(C) Inspecial schools

(D) By special teachers in special schools

14. Who said “Senses are the oateways of
knowledge.”?
{A) Russo - (B) Strang :
(C) Stanley Hall (D) Valentine

15. Contiguity is one of the conditions of
«fA) Leaming
(B) .Teaching
(C) (A)and (B) both
(D) None of the above
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16. Theplace of school in socialisation of a child is.

OINDIRESULTE
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17.

18.

20.

21.

22

(C) Thorndike

(A) Formal

-----------------------

(A) Through groupmg
(B) At oral stage
(C) After family
(D) After society

Why do children differ in Physique, Character,
Values, Attitudes, Skills etc.?

(A) Due to Nourishment

(B) Due to Malnutrition -

.(C) Due to Heredity and Environment

(D) None of these

Who propounded the theory 0f trial and error ?
(A) Ross (B) Gestalt
(D) Skinner

Education provided to the child by the school
(R) Informal

(C) Non-Formal (D) All of these

A student wants to share his personal problem

and asks for permission to call on you at your

residence. What will be your response?

(A) Avoid giving time

_(B) Give anappointment readily

(C) Ignore the child
(D) None of these

Psychology is the sCience Of wevcciiiverienesninanas :
(A) Humanbeing
(B) Animal Behaviour

.(C) Behaviour of Humans

(D) Attitude

S. Hollingworth is associated with her work on
(A) Delmquunt children

(B) Mentally retarded

(C) Gifted children

(D) None of these
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23.  The oldest method in Psychology 15 ........ e

(A) Instrospection
(B) Observation

(C) YR Qe @|ND|RESULTE (C) Case study
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(D) None of these

24.  How many types of intelligence were suggested
- by Howard.Gardner?

\ (A) Five (B) Seven

(C) Eight (D) Six

25. Theterm ‘Mental hygeine’ was given by ........ :
[(A) C.L. Pierce
AB) C.W. Bears
(C) William Sweetser
(D) James D. Jung

26.  The term ‘Homecostasis” was coined Dy ........ :
(A) Erickson .(B) Cannon
(C) Thorndike (D) Freud

" 27. The picturc of a horse is ............. :

.(A) AnIconic stimulus
(B) Concrete stimulus
(C) Signal Stimulus

(D) Symbolic stimulus

28. Duyslexia is associated with ............. :
(A) Mental Disorder
(B) Mathematical Disorder
«(C) Reading Disorder
(D) Behavioural Disorder

[\
0

Who among the following does not belong to
‘Gestalt Psychology’? . :
(A) Kurt Lewin

«B) LP. Pavlov

(C) Wolfgang Kohler

(D) All ofabove

30. “The superego is the direct antithesis of id.” This
statement 1s :
(A) True +«(B) False
(C) Partially true (D) Absurd Statement al
Follow us on telegram - t.me/IndiResult
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SECTION-II : ENGLISH LITERATURE & GRAMMAR

v g1 Alas! He lost his purse. *Alas” here is :
SN Exclamatory sentence
(B) Interjection
(C) Adverb
(D) Conjunction

‘sl
12

Kalam is known for his wisdom. ‘Wisdom’is
a/an:

(A) Proper noun
@ Abstract noun

(B) Common noun
(D) material noun

B3/ Ram spoke well. "Well’isa:
(A) Noun (B) Interjection
£C) Adverb (D) Adjective

34. TIbought five trousers. ‘Five’ is:
{A) Noun @ Adjcctive
(C) Pronoun (D) None of the above

The possessive pronoun of “It™is :

AA) It’s | (BY Its
(C) It (D) None of the above

46) Choose the incorrect pair :
(A) Goose - geese (B) Mouse - mice

,1@ Swine - swines (D) Trout - trout -

@ The superlative degree of ‘well’ is :
(A) Well (B) Wellest
AC) Best (D) None of the above

Direction :(Q38 to 42) : Choose the correct
determiner from the given option :

38. My grandmother cannot read or write. She has
knowledge of words :

(A) alittle (B) the little

©) tittle (D) few

indiresult.in whatsapp - 9352018749

@ Will you ive me .oeeveeeeeess food, please?
(B) any
(D) a

...................

some
(C) the little

40.

YOUR SUCCESS PARTNER

41.

K

44,

46.

47.

L(A) The, the, the

@lNDlRESULTE(@ AXX
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Rabindranath Tagore was .....ccocceemeeeeens poet,
............. novelist and ........5....... painter :
‘,"?(B) A,aa

(D) A, X, an

.............. a student appears in the exam :
(A) Much AB) Few
(C) Too much (D) Many

The injured persons were taken to ...........i.-

hospital :
(A) A (B) The
(C) An (D) None of the above

The past form of ‘Cling’ is :
(A) Clang (B) Cling
(©) Clung (D) Clinged

‘She will have been scrved food’ isin:
(A) Past perfect tense |

(B) Future perfect continuous tense
(C) Future indefinite tense

@ Future perfect tense

This lesson is ........... difficult :
(A) Too (B) Very
(C) The little (D) Much

“ An office with high salary and no work” is called:

@ Sinecure (B) Honorary
(O) Pai‘glsite (D) Honorarium

¢ A word or law no longer in use’ is called:
(A) Cynic _(B) Out-dated
(C) Reticent @ Obsolete

I love my books so much so that I cannot part

B With

(D) Without

.................. them :

(A) From
(C) By

Follow us on telegram - t.me/IndiResult
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49. Choose the right sentence :

@ Kalidas is the Shakespeare of India.
(B) The Kalidas is Shakespeare of India
{C) The Kalidas is the Shakespeare of lr;dia
(D) Kalidas is the Shakespeare of the India..

h
oS

"We reached safe and sound.” Which part of
speech ‘sound’ is :
(A) Noun

) /(B) Adverb
(C) Adjective

(D) None of these

‘as light as

........

...........

«(B) Dust
(C) Air (D) Leaf
Choose the correct synonym of ‘audacity’ :
(A) Alertness (B) Timidity
(C) Humility (D) Boldness
" 53. Choose the correct antonym of ‘Malice’ :
N
(&) Goodwill ) Tll-will
(C) Spite AD) Hate

Direction : (Q54 to 55) : Choose the correct option
from the following to change the voice :

54. Whom do you teach English ?
(A) Who is English taught by you?
(B) Whom is taught English by you?
@ Who is taught English by you?
(D) Who is taught by you English?

wn
wn

She will be honoured :

(A) She will honour her.

(B) The President will be honoured her.
(€) The President will honoured her
@ The President will honour her.

indiresult.in whatsapp - 935201.8749
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Direction : (Q56.to 57): Choose the correct option
of indirect form of speech :

‘5;@ The teacher said to the students. “‘Let us start a
new lesson.” _
(A) The teacher asked the students to start a
new lesson.
(B) The teacher suggested to the students to
* start a new lesson.
(C) The teacher suggested to the students that
he should start a new lesson.
,QD) The teacher suggested to the students that
they should start a new lesson. .
57. He said to his teacher, “Good night, sir.” :
(A) He wished his teacher good night sir.
(B) He respectfully wished his teacher good
night.
(C) Herespectfully bids his reacher good night.
{ D) He respectfully bade his teacher good night.

Direction :(Q58) Choose the correct option from
the following to change the sentence from
interrogative to assertive sentence :

58. Will he ever help the poor ?

(A) He will not help the poor.

(B) He will never help the poor.’
(C) None but he will help the poor.

(D) He will ever help the poor.

Direction : (Q 59 ) Choose the correct option from
the following to change the sentence from
assertive to negative.

“My eyesight is not good.”
(A) My eyesight is not good.
AB) My eyesight is not bad.
(C) Nothing is good as my eyesight.
(D) My eyesight is not as good as that of yours.

Direction : (Q 60) Fill in the blank.

...................... [ go to Shimla, I shall meet your

parents: '
(A) Would /@ Should
«C) If (D) May

Follow us on telegram - t.me/IndiResult
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SECTION-I11 : HINDI LITERATURE & GRAMMAR
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SECTION-1V : MATHEMATICS

BY. 22528 s x(J16)'=?

91. 2%2%x2'x8 1x(16 )=?

(A) 2° (B) 2° (A) 2° (B) 2°
£O ¥ (D) 5 F// (C) 23 (D) 2%
(7¢)\NDIRESULTE
92. J0.000049=7 92.  J0.000049 =" -
A9 000007 LA(®B) 0.007 , (A) 0.00007 (B) 0.007
C) 0.07 ‘ D) 0.700
<(C) 0.07 (D) 0.700 (©) 007 (D)
7 7
3) o(4) 3\ (4
6. [Z) :\(Ej =7 ' 2 (4) (3
(A) (B) 0 S (A) 1 ' (B) 0
(C) 14 (D) -1 (C) 14 (D) -1
3 | g3 e
@. 2% 31 ufqwe § fordl : 94. Write27 in percent :
. ' 359 350%
(A) 35% AB) 350% (A) 35% (B) 3 N
(C) 3.5% (D) 0.35
(C) 3.5% (D) 0.35 |
95. Which one of the following is greater : - -
3 . .
6 50% sl = ¥ B TS T 7 ;
pr 20% SR 5 T 50% or 3
N B) 50% .
a. N R g . _\ET 255'_&; qﬁ . ‘ .
(© =< ¥ (D) = (C) Both are equal (D) None of these
6 =2
96, 66+0.006+0.66+0.0006="
=9
68 66 + 0.006 + 0.66 + 0.0006 = | 0 ssB6e .
T {A) 66.6666 (B) 0.666666

‘ 666
(C) 66.666 (D) 666.666 | (C) 66.666 : (D) 666

i - 5 ;’ ‘ .
@ : 6 !

T Bl TRl Jargest six digit number :
. | | | 0000
i (B) 100000 (A) 900000 - (1;) 19(_())000
& 900020 (D) 90000 | (C) 99999 (D)
(C) 9999 ,
~ indiresult.in whatsapp - 9352018749 08, 75% of 90 =2
/Zgﬂ e (B) 68.5 ' (A) 67.5 (B) 68.5
67.5

(C) 76.5 - (D) TS5
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k02 :
99 X 0.02x 0.002 = 9 99. 0.2 x0.02x 0.002=?

A) Sx 100 .
((c>) q\. o & 8x 100 (A) 8x 10° (B) 8x10°
oX 10 (D) 8 x 10 ./" (C) 8x 10° (D) 8 x 107
00) T e #)INDIRESULTE
}OO‘ W C YOUR SUCCESS PARTNER . . -
L_. et 3 \T:\ 3750 %o‘ﬁo Ea| o 25 H T4 100. A train cover a distance of 3750 km in 25 hours,
- T gue | NS ) AT -how much average distance the same trgin will

0 e 2@ty
(A) 140 oo

i (B) 175 oo
A€) 150 fHowo

(D) 130 fowg

& X
}L‘Q‘l,wﬁﬂfrw%%msoﬁa%qlmsoﬁa

T AT B A R Ry e |z
TS ST & UF | 2 ¥ 9w S | g9
ST {5 e & o frey B a9

A8 26 (B) 22

(C) 12 (D) 32

@:2. W@Wﬁsooomﬁ@ﬂw?sﬁ?w

~

£04!

Erq‘mzs%aﬁq?éaa‘m%lm?mﬁm

. T S R
(A) 7000 %0 £B) 6000 %0
(C) 10000 %0 (D) 9000 %0

ﬁmsooo,%o%ﬁs'aﬁzﬁmmﬁ?ﬁm
X W ST AT B afe 3 99 91g S 6500
w0 et € dr o e¥ sa Sifore?

AA) 10% (B) 20%

(C) 15% (D) 8%

4,6,12,15 &1 T FHYGAD (F0090)=?
(A) 180 @ 60

(C) 72 (D) 120

@ 250 3R 600 BT FEwH WAHIEAD (H0H0G0) =?

45 50

(B) 100
(D) 125
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101.

102.

cover in one hour?
(A) 140 km
(C) 150km

(B) 175km
(D) 130 km

Anil took 50 apples from a box of apples. He
distributed 30 apples among his 3 friends equally.

_ After this, he took 2 apples back from each of

his friends. Find how many apples are left with
Anil?

(A) 26
© 12

(B) 22
(D) 32

Mohan purchased a car for Rs. 8000 and sold it

- after one year at a loss of 25%. Find the selling

103.

104.

105.

price of car :
(A) Rs. 7000
(C) Rs. 10000

(B) Rs. 6000
(D) Rs. 9000

Reeta deposited Rs. 5000 in a bank for 3 yearé
at annual rate of interest. If she get Rs. 6500 -

‘after 3 years. Then what is the rate of interest?

(A) 10% (B) 20%
(©) 15% (D) 8%
L.CM. of4,6,12,15="9

(A) 180 - (B) 60

(C) 72 (D) 120

H.C.F of 250 and 600 = 2
(A) 50 (B) 100
(C) 25 (D) 125

Follow us on telegram - t.me/IndiResult -

Scanned by CamScanner



YOUR SUCCESS PARTNER

~ @mmﬁﬁswﬁra

Follow us on telegram - t.me/IndiResult

(06. afx 56-45+ /5 =16, &l x="?
(A) 36 (B) 25
(©) 16 (D) 9

107) wep 1ia P amare 5000 & R 2% B AR H &
af gt B < 9F g5 fha e MY
(A) 5108 (B) 5200
{C) 5202 (D) 5300

(08) v e ¥ 75% e | Af evsfbai 420 €
SIRSSEARCA R TGRSR
(A) 1176 (B) 1350
(). 1260 (D) 1125

@ﬁqﬁﬂwﬁmwse%mﬁmﬁzw
T U & A1 HE €

(A) 44,110 (B) 11, 44
() 11, 33 (D) 22, 55

(A 180° (B) 360°
(C) 90° (D) 37 & BIg 8l

@*. g e @ P
(A) &1 BT TR & 2|
AB) ¥l BT R B B
(C) T& PIoT 90° P Bl & |
(D) ¥ ¥ BIg e |

112, 73° 10T BT TGRS IV FT &7
(A) 17° (B) 90°
(C) 180° (D 107°
indiresult.in whatsapp - 9352018749
@qﬁgﬁaﬁqﬁﬁﬁZ WAL B, 1 99 g9 BT
Serper T BT |
A8) 1386 o AT
(C) 1486 o7 A

(B) 1386 WA
(D) 1320 a7 WAL

1706 (JBT)
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106.

107.

108.

109.

110.

111.

112.

- 113,

(A) 44,110

I£56-45 + \Jx = 16, thenx="?

(A) 36 (B) 25

(€) 16 (D) 9

The population of a village is 5000 and it

increases at the rate of 2% every year. After 2
years the population will be : '

(A) 5108 (B) 5200

(C) 5202 (D) 5300

If 75% of the students in a schbol are boys and
the number of girls is 420, The number of boys

‘18 :-

(A) 1176 (B) 1350
(C) 1260 (D) 1125
The difference between two whole numbers is

66. If the ratio of two numbers is 2 : 5, the two

numbers are :-

(B) 11,44
(C) 11,33 (D) 22,55

The sum of three angles of a triangle 1s :
(A) 180° (B) 360°

(C) 90° (D) None of these

The angles of equilateral triangie are :
(A) Two angles are equal ~

(B) Allangles are equal

(C) One angle is of 90°

(D) None of these |

The supplement of angle 73° is :
A) 17° (B) 90°
(C) 180° (D) 107°

If the circumference of a circle is 132 cm, the
area of circle is :
(A) 1386 cm?
(C) 1486 cm’

(B) 1386 cm
(D) 1320 cm2
SET-A
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- 0.343 A3 & Y uq 9 *the volume of a cube is 0.343 cm’, then the
ST R @) 114, lt‘ lthc. t\‘/olux:u ?t a cube 1
%) 0.7 30, side of a cube is :
‘(Qé‘) N ()"\"‘?{Iﬁ‘] (B) 704, (A) 0.7.cm (B) 7cm
; U7 H AT N "
(D) 0.007 359, (C) 0.07 cm (D) 0.007 cm
T3 2 f5aEy N -
& o ¥ ey 115. 211 is divisible by :
(O : (B) 2 (A) 10 (B) 2
O 3 (D) 4 (©) 3 (D) 4 |
|
6. @i HT AT BT AFTH 32 ¥ 3R Tp weam 116, Sum of two numbers is 32, if one of the number
- 36 Bl AT gE W @ _ is -36, then the other number is :
(A) -4 AB) 4 (A) -4 (B) 4
(C) -68 @) 68 (C) -68 (D) 68
G, o .
[7. D W A= T G e g € iR | 1 117. Which number is neither a prime number nor a
ST =T 27? ~ compositc number ?
(A) 3 (B) 5 (A) 3 (B) 5
{9 1 (D) 7 C) 1 (D) 7
~ 21 21
W, (- +==7 8. (T e =2
@5()13 1 118()13
~147 5 1 =t 5 B3
A) 73 ) 37 () 3 - B
14-7 ‘ 13 : 14-7 13
© 3 D) 5 (C) 13 (D) 3
@. 20 % 39%4° = 9 _ ‘ 119. 2°x3°x4°=7
A4 1 (B) 24 (A) 1 (B) 24

(©) 0 (D) 378 | P13 el <o . (D) None of these

@' Ife rTd g — %0 25 3 EY =25%, a8 120. Ifcost price=Rs. 25 and loss =25%, then sell-

faspa qeg =7 ing price =?
(A) 20 %0 (B) 150 ' (A) Rs. 20 (B) Rs. 15
@ 18.75 %0 (D) 18.25%0 , (C) Rs. 18.75 (D) Rs. 18.25
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] SECTION-V : SOC]
GENERAL AWAREN ESS

(A) e (B) ¥RT&

(©) == (D) wTeh
33, ot W PRt &

(A) ASTIA (B) fufrem

(C) fEnrae (D) ITREE

3

(23 e o ey e R @
&8y A ey

(B) STaTeR
(C) faagd (D) wE
) PR \
(24, DY BT femmT fobvy ey 27
(A) XA (B) A
£O) ~idig, (D) ¥R TS
@5. ST BT H&T a7 87
(A) STer - (B) WSS
(C) =9t ¢D) I

126. IETE VRS B8l W 87
(&) aFamE (B) BRY

. (C) TSt (D) &1

(5 e e @ TR
(A) {B) wg
(C) =4 (D) T

1@.WWWWWW§W?

@ 2014

(A) 2013
(C) 2015 (D) 2016
Ie W.WW'WT@H%?
(A) TSI (B) Wm
(C) araH D) femrae
130, Refsree gfear ardmd P40 garr?
©(A) 2013 (B) 2014
(D) 2016

£O) 2015

1706 (JBT)
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124.

125.

126.

127.

128.

129.

130.
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i AL SCl{iI‘{?ES‘, ‘ENVl RONMENTAL STUDIES AND
& CURRENT AFFAIRS INCLUDING HIMACHAL PRADESH

121.

Where Bhootnath temple is situated?

(A) Bhunter (B) Sarahan
(C). Mandi (D) Manali

Where is Kanchanjuniga Peak located?
(A) Arunachal (B) Sikkim
(C) Himachal (D) Uttrakhand

. Which is the longest tunnel of India?

(A) Chenani-Nashri
(C) Victory '

(B) Jawahar
(D) Leh

What is called the Brain of computer?

(A) RAM (B) ROM

(C) CPU (D) Mother Board
What is the currency of Japan?

(A) Dollar (B) Pound

(C) Rupees (D) Yen

Where is war Memorial situated?
(A) Dharamshala
(C) Kangra

(B) Hamirpur
(D) Una

The longest river of Himachal is ................t
(A) Ravi | (B) Satlyj

(C) Beas (D) Yamuna

When ‘Swachh Bharat Abhiyan’ was launched?
(A) 2013 . (B) 2014

(C) 2015 (D) 2016

Where is Great Himalayan National Park situated?
(A) Punjab (B) Uttrakhand |
(C) Assam (D) Himachal Pradesh

When was Digital India programme started?
(A) 2013 (B) 2014

C) 2015 (D) 2016 |
() =0 SET-A
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@)' NPT i 1 <o DI gr?
(A) @™ Taree A
@) = R
(C) 35T M AT
(D) $¥ave= Remrr

(C) omifex

133) =5 9% 7 #?
(A) B3N AT
(B) S’T ATZEIoM

L) 3N FrTeETTS

(D) 39 [qoTN |

@.Wmﬁﬁfﬁ'—eﬁma@aﬂgﬁm%?

(A) e B) s
(C) =<y (D) war
135. ST 3ile BreeTge e aroa we AR 135,
R 27 - | |
(A) -25°C ¢ (B) -30°C
© -a0°C D) -35°C
136. B9 1 IRTdH Iargfye 27
AA) ST BT drefigRo
B) @e ST T
AC) q% T fogem

(D) =T 3R dref T fyspor

137, WR—golf &7 S 7T £
(A) ATHDIT Gergd
(©) @ 2
(D) SRyeH Al
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131.

133.

134,

136.

137.

Who was the foundet of ‘RamaKrjshna '“

Mission’?

% INDIRESULTE (A) Swami Dayanand

YOUR SUCCESS PARTNER

(B) Swami Vivekananda
(C) Raja Ram Mohan Roy
(D) Ishwar Chandra Vidyasagar

. Instrument used to measure the atmospheric

PIESSUTE 1S ...coevirrerenninnnn, :
(A) Hydrometer (B). Barometer
(C) Thermometer (D) Nanometer

What is dry ice?
{A) Solid Oxygen

- (B) Solid Nitrogen

(C) Solid Carbondioxide
(D) Solid Sulphur

Filament of bulb is made up of .................... :
(A) Tron
(C) Silver -

(B) Tungusten
(D) Copper

‘At which temperature celsius and Fahrenheit are

equal ?
(A) -25°C (B) -30°C
(C) -40°C

(D) -35°C

Which is a chemical change?
(A) Evaparation of water

(B) Corrosion of Iron

(C) Melting of Ice

(D) Mixture of sugarand sand

What is the source of Sun Energy?
(A) Nuclear fusion

(B) NuclearFission

(C) Chemical réaction

‘ (D) All above

16
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138. Ww—ﬁazﬁrmm;ﬂvm%?
(A) SR 3a -5 My b 5 pegt
®) B T peF Wy £ miv 20 faet
(C) ImEre ™
(D) HAY

g .o .

@9 g T H ufifie et wogaar &
(A) ITT6 YT
(B) g2 yTa

(D) SR BIE N T8

N . . :
@0. AT TR H o sfesar @ 87
£A) 206 (B) 208
(C) 306 (D) 308

(D) = w1 T <awE
(A) 60 /120 (B) 70/120
{CY 80/ 120 (D) 90/ 120

L@a@qﬂ@aﬁﬁéaﬁﬁvﬁvﬁﬁmﬁﬁ?m
P el A DI Al 87 '

(A) SIS

(B) TSEISH

(C) &TE SIZRIES
@ 3T

@_ma@mmmwﬂ@ﬁmm
feperar g 87 |
£ 16
(C) 1/4

7WW$WUT ‘
(A) gqqaazﬁrafﬁmﬁaﬁﬁ%

©) gﬁ.ﬁdzﬁﬁr\ffaﬁ'\'w%
@)gqﬁaﬁwﬁ' |

(B) 1/5
(D) TR

indiresult.in whatsapp - 9352018749
1706 (JBT)

indiresult.in whatsapp - 9352018749

138. What is the longest part of human digestive
system?
(A) Large intestine
(B) Small intestine
A(C) Stomach
(D) Rectum

139. In human eye image is formed on
(A) Choroid
~ (B) Sclerotic
(©) Retina -
(D) None of these

140. How many bones are there in human body ?
(A) 206 (B) 208
(C) 306 (D) 308

141. Normal blood pressure of human body is |

(B) 70/120

(C) 80/120 (D) 90/120

142. Which gas protects the atmosphere from U.V.
radiations of Sun? '
(A) Oxygen
(B) Nitrogen
(C) Carbondioxide
(D) Ozone

143. What is the weight of any object on the surface
of Moon as compared to Earth?
(A) 1/6 (B) 1/5
(©) 1/4 (D) Equal

144. Due to Gravitational force ... -
(A) we are attracted towards earth
(B) Tide Occurs
(C) Earth revolves around the Sun
(D) All the above

-
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(A) 9”1 Aol 4
. (B) fa=or
(C) sifeeioy @» fi:
@- RIERRCARC E G o) I
(A) el B T
(C) =1 (D) LGl
(A) =maet (B) HFIeT

(D) ®urg

DU BT WAl BT A Bredr F B ¥ 9
(A) @ fagy
(B) ¥eiieht fagy
(C) 1 fa
Ly @ g

l@

149. RR&" # B9 w1 3t urar oy 27
{A) fafes ar
(B) BRMH® 37
(©) tRifes e
(D) oifde® ot

CNG &1 g fdwR & :
(A) HAAISS TGRS I
(C) el v
(D) FTET R I
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. Which of the following is an Amphibian?
(A) Star fish (B) Electric Ray
(C) Octopus (D) Frog

Reproductive part of plant is ........... :

(A) Leaf (B) Flower

(C) Stem (D) Root

White Revolution is rélated to ............... :
(A) Rice (B) Paper

(C) Milk (D) Cotton

In which soil cotton crop is groWn?

(A) Redsoil
(B) Sandysoil
(C) Claysoil
(D) Black soil

Which acid is present in Vinegar?
(A) CitricAcid

(B) Formic Acid

(C) AceticAcid

(D) Lactic Acid

Full form of CNG :

(A) Combined Natural Gas
(B) Compressed_ Natural Gas
(C) Clean Natural Gas

(D) Carbon Natural Gas
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